František Tumajer The fixed point theorem and the boundedness of solutions of differential equations in the Banach space

Mathematica Bohemica, Vol. 118 (1993), No. 1, 1-9

Persistent URL: http://dml.cz/dmlcz/126016

Terms of use:

© Institute of Mathematics AS CR, 1993

Institute of Mathematics of the Czech Academy of Sciences provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these *Terms of use*.



This document has been digitized, optimized for electronic delivery and stamped with digital signature within the project *DML-CZ: The Czech Digital Mathematics Library* http://dml.cz

THE FIXED POINT THEOREM AND THE BOUNDEDNESS OF SOLUTIONS OF DIFFERENTIAL EQUATIONS IN THE BANACH SPACE

FRANTIŠEK TUMAJER, Liberec

(Received February 20, 1991)

Summary. The properties of solutions of the nonlinear differential equation x' = A(s)x + f(s, x) in a Banach space and of the special case of the homogeneous linear differential equation x' = A(s)x are studied. Theorems and conditions guaranteeing boundedness of the solution of the nonlinear equation are given on the assumption that the solutions of the linear homogeneous equation have certain properties.

Keywords: Banach space, differential equation, bounded solution, derivative of the norm of a linear mapping, fixed point

Many problems related to the existence and unicity of solutions of differential equations in a Banach space can be transferred to the problem of existence and unicity of a fixed point of a certain mapping of the Banach space into itself. Among various criteria of the existence and unicity of a fixed point of a mapping the principle of contractive mappings can be considered as one of the simplest and simultaneously the most important criteria.

If $(B, \|.\|)$ is a Banach space then a mapping $Z: B \to B$ is called contractive if and only if there exists a constant $k \in (0, 1)$ such that for any two points $x, y \in B$ the inequality $||Zx - Zy|| \leq k||x - y||$ holds. Each point $x \in B$ for which Zx = x is called a fixed point of the mapping Z. For these points the so-called Banach Fixed Point Theorem hold:

Every contractive mapping $Z: B \to B$ in a Banach space has exactly one fixed point.

We shall use this theorem for determining the bounded solutions of a differential equation

(1)
$$x' = A(s)x + f(s, x)$$

in a Banach space $(B, \|.\|)$, whose particular case is the equation

$$(2) x' = A(s)x.$$

The symbol x' denotes the derivative dx/ds, $A: B \to B$ is a bounded linear mapping continuous on the interval $J = (0, +\infty)$, $f: J \times B \to B$ is such a continuous mapping that for any $(s_0, x_0) \in J \times B$ there exists exactly one solution $x: J \to B$ of the differential equation with the property that for each $s \in J$ we have x'(s) =A(s)x(s) + f(s, x(s)) and $x(s_0) = x_0$.

In the paper [1] it is proved that for any $s_0 \in J$ there exists a bounded linear mapping $F(s): B \to B$ for $s \in J$, the so-called fundamental mapping of the equation (2), and its inverse bounded mapping $F^{-1}(s): B \to B$ such that $F(s_0)$ is the identical mapping $I: B \to B$ and for all $s \in J$ the following equalities hold:

$$F'(s) = A(s) \circ F(s),$$

$$x(s) = F(s)x_0 + F(s) \int_{s_0}^{s} F^{-1}(t)f(t, x(t)) dt.$$

We say that a solution $x: J \to B$ of the equation (1) is bounded if and only if there exists a constant k > 0 such that for any $s \in J$ the inequality $||x(s)|| \leq k$ holds.

The set of all solutions of the equation (2) consists of two disjoint sets: of the set M_1 of all bounded solutions and of the set M_2 of all unbounded solutions. The set M_1 is non-empty, because the equation (2) has always the zero solution which is bounded. Every linear combination of two bounded solutions of the equation (2) is again a bounded solution of this equation. This implies that for each $s_0 \in J$ the set

(3) $B_1(s_0) = \{x_0 \in B : \text{ there exists a solution } x \in M_1 \text{ for which } x(s_0) = x_0\}$

is a vector subspace of the space B.

Therefore there exists an algebraic projection P_1 of the space B onto the space $B_1(s_0)$, i.e. a linear mapping $P_1: B \to B_1(s_0)$ with the set of values $P_1(B) = B_1(s_0)$ that $P_1 \circ P_1 = P_1$. The mapping $P_2: B \to B$ defined by

(4) the decomposition of the end of the end of the end of
$$P_2 = I - P_1$$

is also an algebraic projection with the set of values $P_2(B)$ which is called the direct complement of the vector space $P_1(B)$. In the case when the operators P_1 , P_2 are continuous we call them projectors. Remark 1. If $P_1: B \to B_1(s_0)$ is a non-zero algebraic projection onto the space $B_1(s_0)$, then the equation (2) has at least one non-zero bounded solution.

If the equation (2) has exactly one bounded solution, then there exists exactly one projector $P_1: B \to B_1(s_0)$ onto the space $B_1(s_0)$ and this projector is the zero projector 0.

If we denote by h the derivative of the norm of the linear mapping by $h(A) = \lim(||I + tA|| - 1)/t$ for $t \to 0+$, where $I: B \to B$ is the identical mapping, then the results of [2] imply the following propositions.

Proposition 2. If x is a solution of the equation (2) such that $x(s_0) = x_0$, then for each $s \ge s_0$ we have

$$||x_0|| \exp\left[-\int_{s_0}^s h(-A(\sigma)) \,\mathrm{d}\sigma\right] \leq ||x(s)|| \leq ||x_0|| \exp\left[\int_{s_0}^s h(A(\sigma)) \,\mathrm{d}\sigma\right]$$

whenever the integrals are defined.

Proposition 3. In the equation (2) let $A(s) = A_1 + A_2(s)$, where A_1 is a constant bounded linear mapping. If x is a solution of the equation (2) and $x(s_0) = x_0$, then the following implications hold:

(i) $h(A_1) = 0$, $\int_{s_0}^{+\infty} h(A_2(\sigma)) d\sigma < +\infty \Rightarrow$ the solution x is bounded; (ii) $h(A_1) < 0$, $\int_{s_0}^{+\infty} h(A_2(\sigma)) d\sigma < +\infty \Rightarrow \lim_{s \to +\infty} ||x(s)|| = 0$; (iii) $-h(-A_1) > 0$, $-\int_{s_0}^{+\infty} h(-A_2(\sigma)) d\sigma > -\infty$, $x_0 \neq o \Rightarrow \lim_{s \to +\infty} ||x(s)|| = +\infty$; (iv) $-h(-A_1) = 0$, $-\int_{s_0}^{+\infty} h(-A_2(\sigma)) d\sigma = +\infty$, $x_0 \neq o \Rightarrow \lim_{s \to +\infty} ||x(s)|| = +\infty$.

On the set $C(s_0)$ of all continuous bounded mappings $g: J(s_0) = \langle s_0, +\infty \rangle \to B$ let us define the norm $\|\cdot\|_C$ by

$$||g||_C = \sup\{||g(s)||: s \in J(s_0)\}.$$

Then the vector space $C(s_0)$ with the norm $\|.\|_C$ is a Banach space.

If $G_1: B \to B, G_2: B \to B$ are linear continuous operators for which

$$G_1 + G_2 = I$$

holds and $s_0 \in J$, $J(s_0) = (s_0, +\infty)$, then the symbol $G(s_0, G_1)$ will denote the set of all continuous mappings $f: J \times B \to B$ having the following properties:

(i) For each $f \in G(s_0, G_1)$ there exists a constant $k_f > 0$ such that for each $s \in J(s_0)$ we have

(6)
$$\int_{s_0}^{s} \|F(s) \circ G_1 \circ F^{-1}(t)\| \cdot \|f(t,o)\| \, \mathrm{d}t + \int_{s}^{+\infty} \|F(s) \circ G_2 \circ F^{-1}(t)\| \cdot \|f(t,o)\| \, \mathrm{d}t \le k_f$$

where F is the fundamental mapping of the equation (2), $F(s_0) = I$ and G_1 , G_2 are operators from (5).

(ii) For each $f \in G(s_0, G_1)$ there exists a constant $L_f > 0$, the so-called Lipschitz constant, such that for all $(s, x), (s, y) \in J \times B$ we have

(7)
$$||f(s,x) - f(s,y)|| \leq L_f ||x-y||.$$

Theorem 4. If $f \in G(s_0, G_1)$ and there exists a constant $k_1 > 0$ such that $L_f k_1 < 1$ and for each $s \in J(s_0)$ we have

(8)
$$\int_{s_0}^{s} \|F(s) \circ G_1 \circ F^{-1}(t)\| \, \mathrm{d}t + \int_{s}^{+\infty} \|F(s) \circ G_2 \circ F^{-1}(t)\| \, \mathrm{d}t \leq k_1,$$

then the equation (1) has at least one bounded solution x for which $||x||_C \leq k_f/(1 - L_f k_1)$, where k_f , L_f are constants from (6) and (7), respectively.

Proof. If $y \in (C(s_0), \|.\|_C)$, then for each $u > s \ge s_0$ the conditions (6), (7), (8) yield

$$\begin{split} \left\| \int_{s}^{u} F(s) \circ G_{2} \circ F^{-1}(t) f(t, y(t)) \, \mathrm{d}t \right\| &\leq \int_{s}^{u} \left\| F(s) \circ G_{2} \circ F^{-1}(t) f(t, y(t)) \right\| \, \mathrm{d}t \\ &\leq \int_{s}^{u} \left\| F(s) \circ G_{2} \circ F^{-1}(t) \right\| \cdot \left\| f(t, y(t)) - f(t, o) \right\| \, \mathrm{d}t \\ &+ \int_{s}^{u} \left\| F(s) \circ G_{2} \circ F^{-1}(t) \right\| \cdot \left\| f(t, o) \right\| \, \mathrm{d}t \\ &\leq \int_{s}^{u} \left\| F(s) \circ G_{2} \circ F^{-1}(t) \right\| L_{f} \|y\|_{C} \, \mathrm{d}t + \int_{s}^{u} \left\| F(s) \circ G_{2} \circ F^{-1}(t) \right\| \cdot \left\| f(t, o) \right\| \, \mathrm{d}t \\ &\leq \|y\|_{C} L_{f} k_{1} + k_{f}. \end{split}$$

This means that $\int_{s}^{+\infty} F(s) \circ G_{2} \circ F^{-1}(t) f(t, y(t)) dt$ exists for each $y \in (C(s_{0}), ||.||_{C})$. Differentiating we can verify that every solution $x \in (C(s_{0}), ||.||_{C})$ of the integral equation

(9)
$$x(s) = \int_{s_0}^{s} F(s) \circ G_1 \circ F^{-1}(t) f(t, x(t)) dt - \int_{s}^{+\infty} F(s) \circ G_2 \circ F^{-1}(t) f(t, x(t)) dt$$

is also a solution of the differential equation (1).

Now we shall prove that the equation (9) has a solution in the Banach space $(C(s_0), ||.||_C)$ for each $f \in G(s_0, G_1)$. For this purpose we define the continuous mapping $Z: C(s_0) \to B$ by

(10)
$$Zx = \int_{s_0}^{s} F(s) \circ G_1 \circ F^{-1}(t) f(t, x(t)) dt - \int_{s}^{+\infty} F(s) \circ G_2 \circ F^{-1}(t) f(t, x(t)) dt.$$

This and the conditions (6), (7), (8) imply the inequality

$$||Zx|| \leq \int_{s_0}^{s} ||F(s) \circ G_1 \circ F^{-1}(t)|| \cdot ||f(t, x(t)) - f(t, o)|| dt$$

+ $\int_{s}^{+\infty} ||F(s) \circ G_2 \circ F^{-1}(t)|| \cdot ||f(t, x(t)) - f(t, o)|| dt$
+ $\int_{s_0}^{s} ||F(s) \circ G_1 \circ F^{-1}(t)|| \cdot ||f(t, o)|| dt$
+ $\int_{s}^{+\infty} ||F(s) \circ G_2 \circ F^{-1}(t)|| \cdot ||f(t, o)|| dt$
 $\leq L_f ||x||_C \Big[\int_{s_0}^{s} ||F(s) \circ G_1 \circ F^{-1}(t)|| dt$
+ $\int_{s}^{+\infty} ||F(s) \circ G_2 \circ F^{-1}(t)|| dt \Big] + k_f \leq L_f ||x||_C k_1 + k_f$

and this implies also

(11)
$$||Zx||_C \leq L_f ||x||_C k_1 + k_f$$

This means that $Zx \in C(s_0)$ and the mapping Z maps the Banach space $(C(s_0), \|.\|_C)$ into itself. Now we shall show that Z is a contraction operator. If $x, y \in (C(s_0), \|.\|_C)$, then after simple arrangements we obtain

$$||Zx - Zy|| \leq \int_{s_0}^{s} ||F(s) \circ G_1 \circ F^{-1}(t)||L_f||x(t) - y(t)|| dt$$

+ $\int_{s}^{+\infty} ||F(s) \circ G_2 \circ F^{-1}(t)||L_f||x(t) - y(t)|| dt$
$$\leq L_f ||x - y||_C \left[\int_{s_0}^{s} ||F(s) \circ G_1 \circ F^{-1}(t)|| dt + \int_{s}^{+\infty} ||F(s) \circ G_2 \circ F^{-1}(t)|| dt\right] \leq L_f k_1 ||x - y||_C$$

and this implies also

 $||Zx-Zy||_C \leq L_f k_1 ||x-y||_C.$

This and the inequality $L_f k_1 < 1$ imply that Z is a contraction operator on the Banach space $(C(s_0), ||.||_C)$. From the Banach Fixed Point Theorem we can conclude that the operator Z has exactly one fixed point x in the space $(C(s_0), ||.||_C)$, i.e. Zx = x, which is the required bounded solution of the differential equation (1). The inequality (11) implies that the solution x satisfies $||x||_C \leq L_f ||x||_C k_1 + k_f$, i.e. $||x||_C (1 - L_f k_1) \leq k_f$. Therefore $||x||_C \leq k_f/(1 - L_f k_1)$, which was to be proved.

Theorem 5. If there exists a constant $k_1 > 0$ such that

(12)
$$\int_{s_0}^{s} ||F(s) \circ F^{-1}(t)|| \, \mathrm{d}t \leq k_1$$

for all $s \in J(s_0)$, then each $f \in G(s_0, 0)$ all solutions of (1) are bounded.

Proof. Let the condition (12) be fulfilled. The equality

$$\int_{s_0}^{s} \|F(t)\|^{-1} \mathrm{d}t F(s) = \int_{s_0}^{s} F(s) \circ F^{-1}(t) \circ F(t) \|F(t)\|^{-1} \mathrm{d}t$$

and the inequality (12) imply the inequality

$$||F(s)|| \int_{s_0}^{s} ||F(t)||^{-1} dt \leq \int_{s_0}^{s} ||F(s) \circ F^{-1}(t)|| \cdot ||F(t)|| \cdot ||F(t)||^{-1} dt$$

$$= \int_{s_0}^{s} ||F(s) \circ F^{-1}(t)|| dt \leq k_1.$$

Put $r(s) = \int_{s_0}^{s} ||F(t)||^{-1} dt$. Then $r'(s) = ||F(s)||^{-1}$ and the preceding inequality implies

(13)
$$r(s) \leqslant k_1 r'(s)$$

for each $s \in J(s_0)$. The inequality (13) implies that for $s > s_0$ we have $r'(s)/r(s) > 1/k_1$; by integrating in the interval $\langle t_0, s \rangle$, $t_0 > s_0$, we obtain the inequality

$$[\ln r(t)]_{t_0}^s \ge (s-t_0)/k_1, \quad \text{i.e.} \quad r(s) \ge r(t_0) \exp(k_1^{-1}(s-t_0))$$

for each $s \ge t_0$. This and the inequality (13) imply the inequality

$$r(t_0)\exp(k_1^{-1}(s-t_0)) \leqslant k_1r'(s) = k_1 ||F(s)||^{-1},$$

so that

$$||F(s)|| \leq k_1 r^{-1}(t_0) \exp\left(-k_1^{-1}(s-t_0)\right) \leq k_1 r^{-1}(t_0) \exp\left(k_1^{-1}(t_0-s_0)\right) = k_2$$

for each $s \in J(s_0)$. This and the fact that every solution x of the differential equation (1) is also a solution of the integral equation

$$x(s) = F(s)x(s_0) + \int_{s_0}^{s} F(s) \circ F^{-1}(t)f(t, x(t)) dt$$

imply, by virtue of the conditions $f \in G(s_0, 0)$, (7), the inequality

$$\begin{aligned} \|x(s)\| &\leq \|F(s)\| \cdot \|x(s_0)\| + \int_{s_0}^s \|F(s) \circ F^{-1}(t)\| \cdot \|f(t, x(t)) - f(t, o)\| \, \mathrm{d}t \\ &+ \int_{s_0}^s \|F(s) \circ F^{-1}(t)\| \cdot \|f(t, o)\| \, \mathrm{d}t \\ &\leq k_2 \|x(s_0)\| + k_f + L_f \int_{s_0}^s \|F(s) \circ F^{-1}(t)\| \cdot \|x(t)\| \, \mathrm{d}t \end{aligned}$$

for each $s \in J(s_0)$. If we apply Gronwall's Lemma to the preceding inequality, for all $s \in J(s_0)$ we obtain the inequality

$$||x(s)|| \leq k_2 ||x(s_0)|| + k_f \exp \left[L_f \int_{s_0}^s ||F(s) \circ F^{-1}(t)|| dt \right],$$

which due to the condition (12) means the boundedness of the solution x.

Theorem 6. If there exists a constant $k_1 > 0$ such that $L_f k_1 < 1$ and

(14)
$$\int_{s}^{+\infty} \|F(s) \circ F^{-1}(t)\| \, \mathrm{d}t \leqslant k_{1}$$

for all $s \in J(s_0)$, then the equation (1) has exactly one bounded solution for each $f \in G(s_0, 0)$.

Proof. Let the condition (14) be satisfied. Choose $x_0 \in B$, $x_0 \neq o$, and put $v(s) = ||F(s)x_0||^{-1}$. Then for each $s \in \langle s_0, u \rangle$ we have

$$\int_s^u v(t) \,\mathrm{d} t F(s) x_0 = \int_s^u v(t) F(s) \circ F^{-1}(t) \circ F(t) x_0 \,\mathrm{d} t.$$

This implies the inequality

$$\int_{s}^{u} v(t) dt ||F(s)x_{0}|| \leq \int_{s}^{u} v(t) ||F(s) \circ F^{-1}(t)|| \cdot ||F(t)x_{0}|| dt$$
$$= \int_{s}^{u} ||F(s) \circ F^{-1}(t)|| dt \leq k_{1},$$

so that

$$v^{-1}(s)\int_s^u v(t)\,\mathrm{d}t\leqslant k_1.$$

This means that $\int_{s}^{+\infty} v(t) dt < +\infty$ and $\liminf v(s) = 0$ for $s \to +\infty$. Hence $\limsup ||F(s)x_0|| = +\infty$ for $s \to +\infty$ and for each $x_0 \in B$, $x_0 \neq o$. This implies

that the equation (2) has exactly one bounded solution, namely the zero solution. According to Remark 1 we have $G_1 = P_1 = O$, $G_2 = P_2 = I$. According to Theorem 4 the equation (1) has at least one bounded solution x_1 . It is easy to see that the mapping $y: J(s_0) \to B$ defined by

(15)
$$y(s) = x_1(s) + \int_s^\infty F(s) \circ F^{-1}(t) f(t, x_1(t)) dt$$

is a solution of the equation (2), because

$$y'(s) = x'_1(s) + F'(s) \int_s^{\infty} F^{-1}(t) f(t, x_1(t)) dt - F(s) \circ F^{-1}(s) f(s, x_1(s))$$

= $A(s)x_1(s) + f(s, x_1(s)) + A(s) \circ F(s) \int_s^{\infty} F^{-1}(t) f(t, x_1(t)) dt - f(s, x_1(s))$
= $A(s) \Big[x_1(s) + \int_s^{\infty} F(s) \circ F^{-1}(t) f(t, x_1(t)) dt \Big] = A(s)y(s).$

From the equality (15) we obtain that for each $s \in J(s_0)$ we have

$$||y(s)|| \leq ||x_1(s)|| + \int_s^\infty ||F(s) \circ F^{-1}(t)||L_f||x_1(t)|| dt$$

+ $\int_s^\infty ||F(s) \circ F^{-1}(t)|| \cdot ||f(t, o)|| dt$
 $\leq ||x_1||_C + L_f ||x_1||_C k_1 + k_f.$

This means that y is a bounded solution of the equation (2) and therefore the mapping y is its zero solution. This implies that every bounded solution x of the differential equation (1) is also a solution of the integral equation

$$\boldsymbol{x}(s) = -\int_{s}^{\infty} F(s) \circ F^{-1}(t) f(t, \boldsymbol{x}(t)) \, \mathrm{d}t,$$

and according to the Banach Fixed Point Theorem this equation has exactly one solution. Thus the theorem is proved. $\hfill \Box$

References

- J. L. Massera, J. J. Schäffler: Linear differential equations and function spaces, Academic press, New York and London, 1966.
- [2] F. Tumajer: The derivative of the norm of the linear mapping and its application to differential equations, Aplikace matematiky 37 (1992), 193-200.
- [3] M. Greguš, M. Švec, V. Šeda: Ordinary differential equations, Praha, 1985. (In Slovak.)

- [4] S. G. Krein, M. I. Khazan: Differential equations in a Banach space, Mathem. analysis Vol. 21, Itogi Nauki i Tekhniky, Akad. Nauk SSSR, Vsesojuz. Inst. Nauki i Tekh. Informatsii, Moscow, 1983, pp. 130-264.
- [5] V. V. Vasil'ev, S. G. Krejn, S. I. Piskarev: Pologruppy operatorov, kosinus operator-funkcii i linejnye differencial'nye uravnenija, Itogi Nauki i Tekhniki, Matematiceskij analiz T. 28, Moskva, 1990, pp. 87-203.
- [6] B. Rzepecki: An existence theorem for ordinary differential equations in Banach spaces, Bull. Austral. Soc. 30 no. 3 (1984), 449-456.
- [7] B. Rzepecki: An existence theorem for bounded solutions of differential equations in Banach spaces, Rend. Sem. Mat. Univ. Padova 73 (1985), 89–94.

Souhrn

VĚTA O PEVNÉM BODU A OMEZENOST ŘEŠENÍ DIFERENCIÁLNÍCH ROVNIC V BANACHOVĚ PROSTORU

František Tumajer

V práci jsou studovány vlastnosti řešení nelineární diferenciální rovnice x' = A(s)x + f(s,x) v Banachově prostoru a jejího speciálního případu lineární homogenní diferenciální rovnice x' = A(s)x. Jsou formulovány věty a uvedeny podmínky, které na základě určitých vlastností řešení lineární homogenní rovnice zajišťují omezenost řešení nelineární rovnice.

Author's address: Katedra matematiky VŠST, Sokolská 8, 46001 Liberec.